
© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 1 of 1408L92-SCV-1020-91

INSTALLATION
INSTRUCTIONS

Accessory Application Publications No.

Issue Date

OCT 2005

2006 ELEMENTTRAILER HITCH

PARTS LIST

Trailer Hitch Kit
P/N 08L92-SCV-100

4 Bolts, 12 x 35 mm

Trailer hitch

Left stay

Right stay

4 Side plates

Ball mount

4 Bolts, 12 x 135 mm

U-bolt

2 Nuts, 8 mm

2 Washers, 8 mm

2 Spring washers, 8 mm

8 Nuts, 12 mm

8 Spring washers, 12 mm

Retaining pin

Retaining pin clip

Receiver cover

12 Washers, 12 mm

AII 31100



2 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

Harness Kit (sold separately)
P/N 08L91-SCV-102

Fuse label A

Trailer harness

Trailer unit harness

Trailer unit

Connector bracket

Unit bracket

Flange nut

2 Flange bolts

8 Wire ties

2 Wire tie with clips

Bracket

3 EPT sealers

Fuse, 7.5A

TOOLS AND SUPPLIES REQUIRED
Phillips screwdriver
Flat-tip screwdriver
10 mm, 13 mm, 14 mm, and 19 mm Combination wrenches
Torque wrench
Tape measure
Diagonal cutters
Piece of steel wire
Isopropyl alcohol
Shop towel
Cardboard or blanket
12 mm T-wrench
Clip remover
Utility knife
Scissors

Fuse label B

Owner’s manual

3 Cushion tapes



© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 3 of 14

INSTALLATION

Customer information: The information in this
installation instruction is intended for use only by
skilled technicians who have the proper tools,
equipment, and training to correctly and safely add
equipment to your vehicle. These procedures
should not be attempted by “do-it-yourselfers.”

1. Make sure you have the anti-theft code for the
radio, then write down the radio station presets.

2. Disconnect the negative cable from the battery.

Routing the Trailer Harness

3. Remove the rear bumper (two 4 x 20 mm self-
tapping screws, two 5 x 16 mm self-tapping
screws, two bolts, two clips).

4. Open the upper and lower tailgates, and take out
the cargo area floor (two hooks).

 2517070K

HOOKCARGO AREA
FLOOR

LOWER
TAILGATE

5. Get the trailer harness and two EPT sealers.
Attach the EPT sealers to the trailer harness at
the location shown.

 2716191K

REAR
BUMPER

CLIP

BOLT

4 x 20 mm
SELF-
TAPPING
SCREW

BOLT

5 x 16 mm
SELF-
TAPPING
SCREW

4 x 20 mm
SELF-
TAPPING
SCREW

5 x 16 mm
SELF-TAPPING
SCREW

TRAILER
HARNESS
GROMMET

TRAILER
HARNESS

EPT SEALER

10 mm

4820010H



4 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

7. Remove and discard the rear left grommet from
the body. Attach a piece of steel wire to the trailer
harness 4-pin connector, and pull the 4-pin
connector through the vehicle grommet hole and
into the hole in the spare tire well. Seat the trailer
harness grommet in the vehicle grommet hole with
the end facing down.

9. Install a wire tie with clip to the trailer harness
4-pin connector. Remove the blue tape to free the
vehicle harness 4-pin connector in the spare tire
well. Remove the dummy connector from the
vehicle harness 4-pin connector, and connect the
harness connector to the 4-pin connector of the
trailer harness. Secure the connectors to the
vehicle harness with the wire tie with clip, and
wrap an EPT sealer (cut in half) around the
connector.

10. Secure the trailer harness to the vehicle harness
with one wire tie as shown. Route the trailer
harness through the square hole in the inner panel,
and reattach the plastic hole cover.

6. Inside the spare tire well, turn over the lower half
of the plastic hole cover, attached to the square
hole in the inner panel, to the slit in the center.

8. Remove the steel wire from the trailer harness
4-pin connector.

4820022H

TRAILER
HARNESS 4-PIN
CONNECTOR

STEEL
WIRE

TRAILER
HARNESS

Point down. VEHICLE
GROMMET
HOLE

VEHICLE
GROMMET
(Discard.)

INNER
PANEL
SQUARE
HOLE

TRAILER HARNESS
GROMMET

PLASTIC
HOLE
COVER

4929092H

VEHICLE
HARNESS

SPARE TIRE
WELL

FRONT
PLASTIC HOLE COVER
(Turn over.)

4820032H

TRAILER
HARNESS
4-PIN
CONNECTOR

WIRE TIE
WITH CLIP

BLUE
TAPE

EPT
SEALER

Cut.

FRONT

VEHICLE
HARNESS

CARGO
AREA

TRAILER
HARNESS
4-PIN
CONNECTOR

WIRE TIE
WITH CLIP

VEHICLE
HARNESS
DUMMY
CONNECTOR

VEHICLE
HARNESS 4-PIN
CONNECTOR

WIRE TIE

PLASTIC
HOLE
COVER
• Attach to
the hole
again.



© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 5 of 14

11. Route the trailer harness down through the
clearance between the rear bumper beam and
body panel, and reinstall the rear bumper.

Routing the Trailer Unit Harness

12. Slide the driver’s seat all the way forward, and
raise the seat to the highest position. Behind the
driver’s seat, remove the eight clips that secure
the rear cover to the vehicle panel and remove the
cover. Take care not to damage the clips. Be sure
to reattach any seals that came off the clips.

13. Remove the two front bolt covers, then remove
the four bolts that fasten the driver’s seat side
rails so that the driver’s seat can be lifted.

14. Remove the driver's door side sill trim (nine clips
and two retaining tabs). Take care not to damage
the clips and retaining tabs. Be sure to reattach
any seals that came off the clips.

15. To remove the driver’s dashboard lower cover,
turn the knobs clockwise, then pull the lower cover
out toward you to release the six retaining tabs.

4820040H

TRAILER
HARNESS

REAR
BUMPER

BUMPER
BEAM

4820053H

CLIP

CLIP

REAR
COVER

DRIVER’S SEAT

CLIPS (3)

BOLTS (4)

FRONT
BOLT
COVER

Slide and
raise.

SEALS (3)

4820062H

CLIPS (2)
LEFT SIDE SILL TRIM

RETAINING
TAB

RETAINING
TAB

FRONT CLIPS (7)

SEALS
(2)

 2403050K

KNOB

RETAINING
TABS (6)DRIVER’S

DASHBOARD
LOWER COVER



6 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

16. Remove the weatherstrip around the driver's kick
panel, and remove the driver’s kick panel (pull the
driver’s kick panel out toward you to release the
two clips and two hooks). Take care not to damage
the clips and hooks.

17. Slide the unit bracket onto the trailer unit. Do not
push at the connector area.

Without Keyless Entry System:

Attach the unit bracket to the steering hanger beam
with the flange bolt (from the kit).

3919050M

STEERING HANGER
BEAM

KEYLESS
RECEIVER
UNIT

VEHICLE
BRACKET

VEHICLE
5-PIN
CONNECTOR

VEHICLE
BOLT
(Reuse.)

With Standard Keyless Entry System:

• Unplug the vehicle 5-pin connector from the keyless
receiver unit, and remove the vehicle bracket from
the steering hanger beam (one bolt).

4820071H

UNIT
BRACKET

TRAILER
UNIT

CONNECTOR AREA
(Do not push here.)

3130020Y

DRIVER’S
KICK PANEL

HOOK

WEATHERSTRIP

CLIPS (2)

18. Install the trailer unit.

4914071H

FLANGE BOLT
(included in the kit)

TRAILER
UNIT

STEERING
HANGER BEAM

UNIT
BRACKET



© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 7 of 14

• Combine the vehicle bracket and the unit bracket
and attach them with the vehicle bolt you removed.
Reconnect the 5-pin connector to the keyless
receiver unit.

With Optional Security System:

Combine the keyless entry unit bracket and the unit
bracket and attach them with the flange bolt (included
in the kit).

19. Attach the fuse label A (OPTION FUSE 5A) to the
fuse case of the trailer unit harness. Remove the
blue tape from the vehicle harness, free the
vehicle 6-pin connector, and connect the 6-pin
connector of the trailer unit harness.

4820101H

TRAILER UNIT
HARNESS
6-PIN
CONNECTOR

BLUE
TAPE

VEHICLE
HARNESS
6-PIN
CONNECTOR

TRAILER
UNIT
HARNESS

FUSE LABEL A
(OPTION FUSE 5A)TRAILER

UNIT
HARNESS
FUSE CASE

VEHICLE
HARNESS

20. Install the fuse case of the trailer unit harness by
sliding it onto the coupler holder of the vehicle
harness.

4820112H

TRAILER UNIT
HARNESS
FUSE CASE

VEHICLE HARNESS
COUPLER HOLDER

INSTRUMENT
PANEL BRACKET
(DRIVER’S SIDE)

Slide in.

4820081H

VEHICLE BOLT
(Reuse.)

UNIT
BRACKET

TRAILER
UNIT

KEYLESS
RECEIVER
UNIT

VEHICLE
BRACKET

4820092H

KEYLESS
ENTRY UNIT
BRACKET

TRAILER
UNIT

KEYLESS
RECEIVER
UNIT

UNIT
BRACKET

STEERING
HANGER BEAM

FLANGE BOLT
(included in the kit)

SECURITY
UNIT



8 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

21. Remove the vehicle bolt from the bottom hood
opener bracket, and install the bracket from the
kit, reusing the vehicle bolt.

22. Connect the trailer unit harness 12-pin connector
to the trailer unit, and secure the trailer unit
harness to the instrument panel bracket with one
wire tie. When installing the wire tie, do not
damage the trailer unit harness with the edge of
the instrument panel bracket.

4823011H

HOOD
OPENER

VEHICLE
BOLT
(Reuse.)

BRACKET
LONG

TOP

SHORT

4823022H

23. Insert the trailer unit harness clip into the hole in
the bracket. Secure the 6-pin connector connected
in step 19 to the vehicle harness with one wire tie.

VEHICLE
HARNESS
 (to door)

WIRE TIE
(Avoid damage to
the trailer unit
harness from
the edge of the
instrument panel
bracket.)

TRAILER
UNIT

TRAILER UNIT
HARNESS
12-PIN
CONNECTOR

TRAILER UNIT
HARNESS

INSTRUMENT
PANEL BRACKET

TRAILER UNIT
HARNESS CLIP

BRACKET

TRAILER
UNIT
HARNESS
6-PIN
CONNECTOR

INSTRUMENT
PANEL
BRACKET WIRE TIE



© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 9 of 14

24. Route the trailer unit harness on top of the left
side step of the vehicle. Turn up the floor carpet.
Remove the blue tape to free the 3-pin connector
of the vehicle harness, and remove the dummy
connector from the vehicle 3-pin connector. Install
a wire tie with clip to the vehicle 3-pin connector.

26. Measure the dimensions with the side step holes
as reference, and secure the harness with two
cushion tapes as shown. Moisten a shop towel
with isopropyl alcohol, and clean the surface
where the cushion tape will attach.

27. Bring the trailer harness to the outer side of the
vehicle.  Secure the trailer harness with the
cushion tape while aligning the end of the tape
with the end of the stepped surface of the side
step as shown. Clean the surface where the
cushion tape will be attached with isopropyl
alcohol.

25. Connect the 3-pin connector of the trailer unit
harness to the vehicle 3-pin connector. Then
secure the trailer unit harness to the vehicle
harness with the wire tie with clip installed in
step 23.

4823045H

TRAILER UNIT
HARNESS

40 mm

25 mm

SIDE STEP
HOLE

FRONT

CUSHION TAPE
(Attach the tape while
aligning the tape end with
the imaginary line drawn
from the hole.)

SIDE
STEP
HOLE

CUSHION TAPE
(Attach the tape while
aligning its end with
the end of the stepped
surface.)

TRAILER UNIT
HARNESS
(Bring the
harness to the
outer side of
the vehicle.)

END of
STEPPED
SURFACE

4823033H

FRONT

VEHICLE
HARNESS
DUMMY
CONNECTOR

BLUE
TAPE

FLOOR
MAT

Turn up.

VEHICLE
HARNESS

WIRE TIE
WITH CLIP

VEHICLE
HARNESS
3-PIN
CONNECTOR

TRAILER UNIT HARNESS
3-PIN CONNECTOR

WIRE TIE
WITH CLIP

VEHICLE
HARNESS
3-PIN
CONNECTOR



10 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

 2521010K

FUSE LABEL B (7.5A)

RELAY BOX
COVER

27. In the engine compartment, remove the cover
from the relay box, and install the fuse (7.5 A)
included in the kit into the No. 8 slot of the relay
box.

28. Attach the fuse label B (7.5A) over the No.15 on
the back of the relay box cover. Reinstall the relay
box cover.

Installing the Trailer Hitch

29. Slide the four 12 x 135 mm bolts into the right
and left stays.

30. From the inboard side of the vehicle frame, slide
the right and left stays into the right and left rear
frame rails.

31. From the outboard side, slide the side plates onto
the 12 x 135 mm bolts in the direction shown,
then install the four 12 mm washers, four 12 mm
spring washers, and four 12 mm nuts on the ends
of the 12 x 135 mm bolts. Do not tighten the nuts
yet.

 2520070K

RELAY
BOX
COVER

RELAY
BOXFUSE

(7.5A)

 2903070K

12 x 135 mm
BOLTS (4)

LEFT STAY

RIGHT STAY

 2314082K

Direction of Side Plates

RIGHT REAR
FRAME RAIL

12 mm
WASHERS (4)

12 mm
SPRING
WASHERS (4)

12 mm
NUTS (4)
(Do not
tighten yet.)

SIDE
PLATE

RIGHT
STAYLEFT

STAY
SIDE
PLATE

LEFT REAR
FRAME RAIL

REAR



© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 11 of 14

32. With the help of an assistant, position the trailer
hitch on the right and left stays, and align the
holes. Install the four 12 x 35 mm bolts, eight
12 mm washers, four 12 mm spring washers, and
four 12 mm nuts, but do not tighten the bolts yet.

33. Insert the U-bolt around the tie-down hook and into
the holes in the plate. Install an 8 mm washer, an
8 mm spring washer, and an 8 mm nut on each
end. But do not tighten the nuts yet.

34. Torque all bolts and nuts to their specified torques
in the order of , , and .

 2314092K

12 x 35 mm BOLTS
(Do not tighten yet.)

RIGHT
STAY

12 mm
WASHERS (8)

12 mm NUTS (4)

12 mm SPRING
WASHERS (4)

TRAILER
HITCH

LEFT
STAY

 2314100K

TOWING HOOK

U-BOLT

TRAILER
HITCH

8 mm
WASHER (2)

8 mm SPRING
WASHERS (2)8 mm NUT

(Do not tighten
yet.)

HOOK
PLATE

 2314111K

8 mm NUT
18 N·m
(1.8 kgf·m, 13 lb·ft)

HOOK
PLATE

TRAILER
HITCH

1

 2717040K

12 mm BOLT
79 N·m
(8 kgf·m, 58 lb·ft)

RIGHT
STAY

TRAILER
HITCH

LEFT STAY

2

 2717050K

SIDE
PLATE

12 mm BOLT
79 N·m
(8 kgf·m, 58 lb·ft)

RIGHT
STAY

SIDE PLATE
LEFT STAY

12 mm NUT
79 N·m
(8 kgf·m, 58 lb·ft)

3



12 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

35. Slide the ball mount into the trailer hitch. Align the
holes in the trailer hitch with the holes in the ball
mount, then insert the retaining pin into the holes.
Secure the retaining pin with the retaining clip.

36. Route the trailer harness 4-pin connector to the
hitch plate along the trailer hitch.

37. Install the connector bracket onto the trailer
harness 4-pin connector, and secure them to the
trailer hitch with the flange bolt and flange nut.

38. Secure the trailer harness to the trailer hitch with
one wire tie.

39. Secure the trailer harness to the trailer hitch and
to the vehicle panel with four wire ties in the
areas shown.

4823050H

TRAILER HARNESS
4-PIN CONNECTOR

TRAILER
HARNESS

TRAILER
HITCH

TRAILER HARNESS
HITCH PLATE

2314131K
RETAINING
PIN

RETAINING
PIN CLIP

BALL MOUNT

TRAILER
HITCH

4824010H

TRAILER
HARNESS

FLANGE BOLT

TRAILER
HITCH

FLANGE NUT

TRAILER HARNESS
4-PIN CONNECTORCONNECTOR

BRACKET

WIRE TIE

4824020H

TRAILER
HARNESS

WIRE TIE VEHICLE
PANEL

TRAILER
HITCH WIRE TIE



© 2005 American Honda Motor Co., Inc. - All Rights Reserved. AII 31100 (0510) 13 of 14

40. Check that all wire harnesses are routed properly
and all connectors are plugged in.

41. Reconnect the negative cable to the battery.

42. Enter the customer’s radio anti-theft code, and
reset the radio station presets.

43. Reset the clock.

44. Reinstall all removed parts. Torque the seat
mounting bolts to 32 - 38 N·m (23 - 27 lb·ft)

NOTE: Whenever the battery is disconnected, the
driver’s window AUTO function is disabled.

45. Start the engine. Push down on the driver’s
window switch until the window is fully open.

46. Pull up on the driver’s window switch to close
the window completely, then hold the switch for
2 seconds or more.

47. Lower and raise the window to check operation of
the driver’s window AUTO function.

NOTE: After about 620 miles (1,000 km) of use,
retighten the bolts and nuts to the specified torque.



14 of 14 AII 31100 (0510) © 2005 American Honda Motor Co., Inc. - All Rights Reserved.

Installing the Receiver Cover

Whenever you remove the retaining pin clip, the
retaining pin, and the ball mount, securely store them
in the cargo area. Then press the receiver cover into
the opening at the end of the trailer hitch. When you
reinstall the ball mount, store the receiver cover in the
cargo area.

Put a Copy of This Page in the Glove Box for Your Customer

2903080KTRAILER HITCH

RECEIVER
COVER


